2000 2200 2220 2225 101
2000 1219277,878| 1170111266 49,166,612
219,271, 170441, A06812) 1 070,444 537,505 1,958,871]
2200 156606306 140445.944|  16.160452( [ 4o, ooy 065 1.331.,000]
2220 100,877,678 86,622,547 1405531 1 goc e 1.331,000]
2225 2,672,362 2,638,832 33,530
100 2,395,306 2361776 33,530
110 1,272,683 1,239,153 33,530
101 1,272,683 1,239,153 33,530
372,888 339,358 33,530/ 04
(= 297,323)
(= 96,110)
- 21,400 * 10 * 365 = 78,110
- 90,000 * 10 * 12 = 10,800
- 60,000 * 10 * 12 = 7,200
(= 52,061)
- 96,110,000 * 2/12 = 16,019
- 96,110,000 * 2/12 = 16,019
_ 96,110,000 * 2.5/12 = 20,023




21,400 * 10 *7 * 12 = 17,976
78,110,000 * 1.5/12 = 9,764
9,900 * 30 * 10 * 12 = 35,640
39,600 * 2 *10 * 12 = 9,504
39,600 * 10 * 12 = 4,752
26,400 * 10 * 14 = 3,696
80,000 * 10 * 12 = 9,600
80,000 * 10 * 12 = 9,600
(= 7,680)
- 30,000 * 10 * 12 = 3,600
- : 20,000 * 17 * 12 = 4,080
(= 6,140)
- 1,2 ) 44,460 * 5 * 4 = 890
- 328,100 * 4 * 4 =5,250
120,000 * 10 * 12 = 14,400
70,000 * 10 * 12 = 8,400
100,000 * 10 * 12 = 12,000

2000 2200 2220 2225 110 101




2000 2200 2220 2225 110 101
297,323,000 - 272,021,000 = 25,302
(= 21,159)
297,323,000 * 4.5% = 13,380
297,323,000 * 1.5% = 4,460
297,323,000 * 0.6% = 1,784
= 1,535
21,159,000 - 19,490,000 = 1,669
(= 50,640)
27,350 * 3 * 300 = 24,615
24,615,000 * 10% = 2,462
24,615,000 * 4/12 = 8,205
24,615,000 * 1.5/12 = 3,077
27,350 * 3 * 65 =5,334
41,030 * 3 * 12 = 1,478
27,350 * 3 * 14 = 1,149
120,000 * 3 * 12 = 4,320




(= 3,766)

50,640,000 - 44,487,000 =

50,640,000 * 4.5%

50,640,000 * 1.5%

50,640,000 * 0.6%

3,766,000 - 3,360,000 =

2,279
760
304

423

6,153

406




